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101|R#A7 L 219 90 129| Kg |EE 2,268 270| L 3,024 324
102|357 L 1,360 1,360| Kg S - BIE 3,791 579
111|&EEF £ 354 19 335| Kg |&40 1,404 S4l 1,728 442
113|RAV S Kg fE 2,160 1,622
114|B5EFE 166 166 Kg e 2,538 1,080
117[14 % 451 40 411| Kg |EE 2,160 540| & 3,780 54
134[#= = 343 172 171 Kg |&) - £ 2,484 1,620|% 1| 2,376 1,620
140(5 I 9 9| Ke fE 125,280 31,500
147|EZ O 60 60| Kg KI5 18,360 10,000
168|BIEM AL H 298 298| Kg BERE 2,052 540
201{Lb L 136 136| Kg T 594 324
203|/Né L 102 102| Kg 3= 378 324
205|585 L 364 364| Kg KI5 891 756
206| = 1F 328 328| Kg = 756 352
208| Mo % 395 395| Kg ML 1,944 482
210{1F AL 12 12 Kg |Ei& 8,370

212|&5E.3 Y 167 167| Kg E)I| - BB 2,160 1,300
222|052 120 120| Kg = 540 468
252| VA EECH 163 163 Kg |85 2,884 2,711

254|E b ECH 773 773|  Kg = I 3,132 1,220
303|1A 220 127 15 12| Kg |LO 504 =yl 864 675
305\ KA OB 44 9 35| Kg |LO 3,240 = 4,320 3,240
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315|7: B9 6 29 29 Kg =1, 4,860 3,240
319|2h o 98 61 371 Kg [|Ri&E 1,944 1,296 | KI5 2,160 1,404
332|= 13 WA =EF 213 213 Kg Bl = 2,808 1,944
351(4EH 15 151 Kg FEE 6,372 5,184
35411FxE<Y 20 20 Kg [ 1,404

355(mp Y 170 170 Kg FH - P E 1,620 600
356(L L& 70 70 Kg SER 1,512 1,080
357|7RE 25 25 Kg FEE 1,944 1,215
358|KE 25 25  Kg FAN 1,728 1,620
401|H W 101 7 94| Kg |IHEB 1,620 B 2,160 1,728
4025 E 30 30 Kg FAN 5,778 4,644
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507|@— L Ly 20 20| Kg =] 810
512| A A L 90 90| Kg b 1,400 410
523|AEAAT 2 O 901 901| Kg Bh 2,754 1,020
54| AEE E XV 180 180 Kg =] 1,728 1,566
554\ XX BIA AR 10 10| Kg b 900
558|# 29 29| Kg b 1,296 918
560|472 245 245  Kg Bh 2,500 1,650
57648 & 1F 300 300| Kg b 1,080 1,050
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70110 BA 1,328 420 908 Kg |EE 4,513 3,750| & - Ky 3,326 1,080
704|LWb LET 29 291 Kg Ko 216
713|L L» HHF 5 5 Keg HE 432
BlEFAI L 297 2971 Kg & 987 768
755|FH&» C 158 158 Kg RIG 1,037 540
56| £ T 16 16 Kg RIF 1,588 1,466
76l|b Y AEE 12 12 Kg s 3,086
B01[IBAL = 1S 498 498 Kg tmE - mA 2,160 540
802|1 x| 10 10| Kg mE 1,242
8051 1E 234 2341 Kg JbiF 972 756
810|FAKF 89 89 Kg bF 2,638 1,944
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